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ch=function(la){
integrate(function(x){x~(la-1)*exp(-x)},0,Inf)$vall}
plot(lgamma(seq(.01,10,1e=100)),log(apply(as.matrix(
seq(.01,10,1e=100)),1,ch)) ,xlab="log(integrate(£f))",
ylab=expression(log(Gamma(lambda))) ,pch=19,cex=.6)
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m <- 10000

X <= runif(m)

theta.hat <- mean(exp(-x))
> print(theta.hat)

[1] 0.6327615

> print(1 - exp(-1))

[1] 0.6321206
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m <- 10000

x <- runif(m, min=2, max=4)
theta.hat <- mean(exp(-x)) * 2
> print(theta.hat)

[1] 0.1180278

> print(exp(-2) - exp(-4))

[1] 0.1170196
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z <- seq(.1, 2.5, length = 10)
m <- 10000
x <- rnorm(m)
dim(z) <- length(z)
p <- apply(z, MARGIN = 1,
FUN = function(z, x) {mean(x < z)}, x = x)
Phi <- pnorm(z)
> print(round(rbind(z, p, Phi), 3))
[,41 ,21 f[,31 f(,41 [,81 ([,6e1 [,71 [,8] [,9] [,10]
z 0.100 0.367 0.633 0.900 1.167 1.433 1.700 1.967 2.233 2.500
P 0.525 0.627 0.718 0.803 0.871 0.919 0.952 0.973 0.988 0.994
Phi 0.540 0.643 0.737 0.816 0.878 0.924 0.955 0.975 0.987 0.994
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z <- 2

m <- 10000

x <- rnorm(m)

g <- (x < z) #the indicator function

cdf <- mean(g)

v <- mean((g - mean(g))"2) / m

> c(cdf, v)

[1] 9.769000e-01 2.256639e-06

> c(cdf - 1.96 * sqrt(v), cdf + 1.96 * sqrt(v))
[1] 0.9739557 0.9798443
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Jle

S aloes [+ V] 3L 53 15 0T IS s h(z) = [cos O+ + sin Y+ 2] &b sl

h=function(x){(cos(50*x)+sin(20%*x)) 2}
par(mar=c(2,2,2,1) ,mfrow=c(2,1))

curve (h,xlab="Function",ylab="",1wd=2)

> integrate(h,0,1)

0.9652009 with absolute error < 1.9e-10

x=h(runif (1074))

estint=cumsum(x)/(1:1074)

esterr=sqrt (cumsum((x-estint)~2))/(1:1074)
plot(estint, xlab="Mean and error range",type="1",lwd=2,
ylim=mean(x)+20*c (-esterr[1074] ,esterr[1074]) ,ylab="")
lines(estint+2*esterr,col="gold",lwd=2)
lines(estint-2*esterr,col="gold",lwd=2)
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set.seed(21351)

x=2

Niter=10"4

co=rnorm(Niter,mean=x)

x1=co/(1+co~2)

x2=1/(1+co"2)

> mean(x1)/mean(x2)

[1] 1.2729

th=rcauchy (Niter)

di=th*dnorm(th,mean=x)

d2=dnorm(th,mean=x)

> mean(d1)/mean(d2)

[1] 1.27617

estinti=cumsum(d1)/(1:Niter)

esterri=sqrt (cumsum((di-estint1)~2))/(1:Niter)
plot(estintl,type="l",xlab="iteration",ylab=“",
col="gold")
lines(estint1-2xesterrl,lty=2,1wd=2)
lines(estintl+2*esterrl,lty=2,1wd=2)

0.4

0.3

0.2

T T T T T T
0 2000 4000 6000 8000 10000

iteration



e bl (5,86 yo0

9) 2ICs 2 S5 5,05 & dy S g B (6,80 500 I3 pl @ s B ol
2153 (g bl Obil 4 s

b2 Ul sl



e DU (5 S gl

) 58 5 2 5 35703 S e S e L 555 s a4 s o
251 5l G BB Sl a5

sl b w1y T IS
sl
(7)ot e Lo [ I 0 51 €500 s A5

erye.en Sl Slloes



. Z. .

(& s (5,54 5l

) A 5 2 55w 5 8 e S e DS 580500 4 ool L G
13513 i Bl Ll ey )

sl bl w1 T U8

alas

(7)o g Log) f I b 5) €500 rdins I 5

S el (Importance Sampling) & LU 51 (6,8 goi 31 o3l ol sy O
S o Jor T sl il s el

Ei(h(x) = [ "] gy = 2, [ 9]

b iy (3l Slsloes



- / . .

9) 2ICs 2 S5 5,05 & dy S g B (6,80 500 I3 pl @ s B ol
213 518 (g bl Obil 4 s

gl b 4 | T 1R

LS

(7)) s e Ly [ IEs 0 51 0 g0 it A 5

S el (Importance Sampling) & bl 5l Lgﬁfas).g.} Sheslaal (il i, S
:.x:Sda Jos T sl il ol il

B,0(0) = [ 1@ atayas =5, [0 2.

s o by f o a0 6,500 Sl eslisad o)l Lo & oled &) g0

b2 Ul sl



- =z . .

9) 2ICs 2 S5 5,05 & dy S g B (6,80 500 I3 pl @ s B ol
213 518 (g bl Obil 4 s

gl b 4 | T 1R

sl

(7)) s e Ly [ IEs 0 51 0 g0 it A 5

&S el (Importance Sampling) & Ll 5 (6 5% god 3l eslize (ol gy SS
LS Jos T slp oeiil foled il

B,0(0) = [ 1@ atayas =5, [0 2.

s o by f o a0 6,500 Sl eslisad o)l Lo & oled &) g0

Ao S e o (Instrumental Distribution) 13! s gus sl pis fa

b iy (3l Slsloes



e BB (6,85 505 (2 K1

135 Job 23 Sygo 4 Ol T IS o (1

O MP gL Xy, Xy S5 @

b2 Ul sl



e BB (6,85 505 (2 K1

135 Job 23 Sygo 4 Ol T IS o (1

O MP gL Xy, Xy S5 @

:foému\ﬁj g_,.:v).a.‘})‘ (Y]

DA

b2 Ul sl




Jeb el

:djbﬁu

%ZJ; Egh(xj) - / h(2)f () d.

A = = = F o

b2 Ul lslons



%ZJ; Egh(xj) - / h(2)f () d.

supp(f) C supp(g) S O » bsta ccml 5135 g w55 A Sl 4 2 Kon

b2 Ul lslons



ARGVIC.OM
supp(f) C supp(g) & O 2 by cnl S35 g @255 5 S & (ol Ko ol

:r.g.a &5 9
AL o3l T 5 € pe A5 o358 Sl gl S 4 LL g 55 @

b iy 3Ll Slsloes



\ o f(X5) /
— WMX;) — | h(x)f(x)dz.
m FZ\ g(Xj) ! X
supp(f) C supp(g) S O » bsta ccml 5135 g w55 A Sl 4 2 Kon
:v.g.a 4.’;§a 92
3 eales O 31 o0 A5 o8 358 QL 616 S 4 L g )55 @

hels sle s & 0,8 eslimal Slads 4 Ol 50 (g Lo 55) e dd 5 €500 51 @
o o3l BB s 50 oo sl f sl 5 sl oS s

b2 Ul ol



Sl g5 Sl
et oy ) g OBl ) s 3L L5 e JE w6 a g ez S)
Sw‘ggd!w g}""}L.f)b st‘} égjja}.é)f})j‘fj [ ]

E; [h‘(X)%} - /Xh‘(x)%dx< 0.

PR



S\l s Sl
et oy ) g OBl ) s 3L L5 e JE w6 a g ez S)
ASW‘Q;QLLG &Lj‘)‘j st‘} &jﬁéfb}j“—ﬂ [ ]

E; [h‘(X)%} - /Xh‘(x)%dx< 0.

s (supj—; =004 Sloj ) fslaps 3l S slaps b )l glags s @
.M’" .

b2 Ul sl



S\l s Sl
et oy ) g OBl ) s 3L L5 e JE w6 a g ez S)
ASW‘Q;QL&ZA ‘)M}Lj)‘j st‘.} uﬁﬁj‘-&éjﬁ)jﬁ [ ]

E; [h‘(X)%} - /Xh‘(;r:)%dx< 0.

s (supj—; =004 Sloj ) fslaps 3l S slaps b )l glags s @
.M’" .

g g0 0313 o3Il 31 iy el Lag 31 SWO1 sl 4

b2 Ul sl



S\l s Sl
et oy ) g OBl ) s 3L L5 e JE w6 a g ez S)
ASCAMA‘ @L&A ‘)M}Lj)b st‘.} ;;\;jja.aé;b)j“—ﬂ [ ]

E; [h‘(X)%} - /Xh‘(x)%dx< 0.

s (5P L = 00 487 a3 ) fslaps 51 5K slaps b syl slapiss @
-M’” ¥

g g0 0313 o3Il 31 iy el Lag 31 SWO1 sl 4
3ym iy s 3 cpedin psb & f 31 Sg0s IS Sl sup L = M < 00 S1 e
5 S eslal Ol o o>

b2 Ul sl



S s s

2 Gl b Olge a1y 3ylkad Jlep 5 ol w Ole 4 1 2kl 555 w5 S
p:’)‘-’ ‘r:’xi.’JE’

_ @ B 7Texpan"/\’
plz) = g(z) \/V_w(\ + ")

/ T @) = 00 (o)

—0o0

25 g 5ann Ol orn B (6,50 505 31 Joolom S5 8 (ond 2 Shos s 3

b2 Ul sl



020 025 0.30
| | |

0.15
|

0.10
|

0.05
|

0.00
|

T T T T T T
0e+00 2e+04 4e+04 6e+04 8e+04 1e+05

Index




Lo SOl R

o @)
7= TG &

)\ CAMS)L:& ‘J‘Lf‘_;a r.«:\;do ‘)WL@&K‘G;&SK))}TX WLﬁJ‘j“SgCU

DA

@b i (5l Slalows




Lo SOl R

)\ C,\..«S)L:& ‘J‘Lfg;a (.A:\;do ‘)V.@ALLLLSJ:?‘\})A;;JJJTJ{ gf“’L:U\ﬁAS.gcb

] () ()
9\T) = 7~
= PG e
e e gy S ) 4 ol
e Ol s JLos 4 4 ol JLS e cndls a3l 0T 51 gl 15

o e



- - / T
& Lo (S0 5a5 53,5l Lo 43w
.L})J)('.@.ALLL’ 6;4.»}«’;:)‘51.3 Q‘)&Mowgﬂ;})‘;\fé\f Wl}- U”'ﬁj&

)‘ OJLA.MA‘ c(J?; ny\w:‘
m f(z;)
25 M) i)
m  f(z) 7
2= o(a)
;J)JTﬁL;\fjjbm )JSJC_VL’JA\)}J})‘ﬁ&lﬁ)\jd)ﬁ@bﬁc}i&&rﬁSw\
s g a0k
.. flz; .
S g P oslaznul cwj = QEZ; cLhQ)j CM )‘ mgsb-‘u L E TN} U"‘ BL)
J.’Lo ("a){‘b).ﬂﬁ u.v‘ «m — OO&JLA) ‘\E Z;;\ g%z%
DA =

— ) e S A8 b
LS Joo Bp(A(X)) & S slasl 8 056
;.U)\jm\) Q‘ ,.Juwl..)b)d\ &;w)‘ Lol el WJ\;A)_}\JJ u.v\é\fu.v‘l.v

bl oLl Slwloes

i 63,5 ok b s &y s )




Sosesla Sl
S h() 5
Zm f(zj)

7=\ g(=)

Do h(zy) [h(;)| ™
R ()

Y

Ty~ g X ‘h|f4§<5))l"‘:’
Slew col e (7)) 8 Slads 3l cadsle Vb ople s ST A0S 3

Dac

adp Jeds Sospesls (Sl w0 S50 ol il ke b S
= =7

[m]

sl s S Slads sl
b s o 13 Sl el Sl ok (S 2580 5o o a2l 085 o

b iy (3Ll Slsloes

S e JILLL S 4 s ol (655,500 w0 Bl B e & ol 0l
ol oug‘;&q&g}a)u Q:’f’.'l:""}f")ﬁ]‘ﬁ C)J}J slozsl quﬁ"" J)}A)JMQ}:.&)J




S e

Sogasla ke Boy505 5 Shas il 3Ty
J“:’LJJU 3 _,\,;,b C,.glj Lﬁ)ﬁ

hlf/g € el eor g Sl (5 208 s <bais

L el ple

A

0 5yl Slulons




\ —x
e
dr =7,
RIS Al

g(x) _ \i_—w\- <<y
. 0.W.

cdlfw O::\)J 8b DL

S 03Ul Ly (63l) s 1ol Jo- sl
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x <- seq(0, 1, .01)

w <- 2

f1 <- exp(-x)

f2 <- (1 / pi) / (1 + x72)
£3 <- exp(-x) / (1 - exp(-1))
f4 <-4 / ((1 + x72) * pi)

g <- exp(-x) / (1 + x72)
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par (mfrow=c(1,2))

## figure (a)

plot(x, g, type = "1", main = "", ylab = "",
ylim = ¢(0,2), 1lwd = w)

lines(x, g/g, 1ty = 2, col = 2, 1lwd = w)

lines(x, f1, 1ty = 3, col = 3, 1lwd = w)

lines(x, £f2, 1ty = 4, col = 4, 1lwd = w)

lines(x, £3, 1ty = 5, col = 5, lwd = w)

lines(x, f4, 1ty 6, col 6, lwd = w)

legend("topright", legend = c("g", 0:4),
lty = 1:6, lwd = w, inset = 0.02)

# figure (b)

plot(x, g, type = "1", main = "", ylab = "",
ylim = ¢(0,3.2), lwd = w, lty = 2)
lines(x, g/fl, 1ty = 3, col = 3, 1lwd = w)

lines(x, g/f2, 1ty = 4, col = 4, 1lwd = w)
lines(x, g/f3, 1ty = 5, col = 5, 1lwd = w)
lines(x, g/f4, 1ty = 6, col = 6, 1lwd = w)
legend ("topright", legend = c(0:4),

lty = 2:6, lwd = w, inset = 0.02)
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m <- 10000
theta.hat <- se <- numeric(5)
g <- function(x) {
exp(-x - log(1+x72)) * (x > 0) * (x < 1)

}
x <- runif(m) #using fO
fg <- g(x)

theta.hat[1] <- mean(fg)

se[1] <- sd(fg)

x <- rexp(m, 1)  #using f1

fg <- g(x) / exp(-x)

theta.hat[2] <- mean(fg)

se[2] <- sd(fg)

x <- rcauchy(m)  #using f2

i <- c(which(x > 1), which(x < 0))

x[i] <- 2 #to catch overflow errors in g(x)
fg <- g(x) / dcauchy(x)

theta.hat[3] <- mean(fg)

se[3] <- sd(fg)

u <- runif(m) #£3, inverse transform method
x <= - log(l - u *x (1 - exp(-1)))

fg <- g(x) / (exp(-x) / (1 - exp(-1)))
theta.hat[4] <- mean(fg)

se[4] <- sd(fg)

u <- runif(m) #f4, inverse transform method
x <- tan(pi * u / 4)

fg <- g(x) / (4 / (1 + x72) * pi))
theta.hat [6] <- mean(fg)

se[5] <- sd(fg)

### Results

> rbind(theta.hat, se)

[,1] [,2] [,3] [,4] [,5]
theta.hat 0.5268425 0.5206398 0.5236278 0.52512375 0.5257661
se 0.2467741 0.4191347 0.9496426 0.09542621 0.1416929
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> pnorm(-4.5)
[1] 3.397673e-06
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Nsim=1000

y=rexp(Nsim)+4.5
weit=dnorm(y)/dexp(y-4.5)

plot (cumsum(weit)/1:Nsim,type="1")
abline(a=pnorm(-4.5),b=0,col="red")
## Estimated Value = 3.452e-06 vs.
## True value = 3.398e-06
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